



City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

R-2006-0204 Resolution In Committee

Resolution to approve bid of C. W. Purpero, Inc. for Sanitary Sewer Relay, Sanitary Spot Relays & Sanitary Sewer Lining (C.1.P.P.) at Various Locations in Sanitary Sewer Basins WE 16, WE 19, WE 20, & WE 23, in the amount of \$500,936.50.

Introduced: 8/1/2006 Controlling Body: Public Works Committee

COMMITTEE							
1 CONTON	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSEI
ACTION			Barczak			TREBERGE	EACUSEI
DATE:			Czaplewski				
0-1 21			DODICTIBILI	·			
8-1-06			Kopplin	i			
			Lajsic				
			Narlock				
			Reinke				
			Sengstock Vitale	-			
			Weigel			-	
	7		Weiger				
			TOTAL	5	-		1
11100	rll	Vice-0			Memb	er	
Chair		Vice-0		As A	Memb		
COMMON CO		Vice-0	Chair	AS P	IMENDER	D	EXCUSED
CTION	UNCIL AC	Vice-0	Chair ADOPT Barczak				EXCUSED
COMMON CO CTION ATE:	UNCIL AC	Vice-0	Chair ADOPT Barczak Czaplewski		IMENDER	D	
COMMON CO CTION ATE:	UNCIL AC	Vice-0	Chair ADOPT Barczak Czaplewski Dobrowski	AYE	IMENDER	D	EXCUSED
COMMON CO CTION OATE:	UNCIL AC	Vice-0	Chair ADOPT Barczak Czaplewski Dobrowski Kopplin	AYE	IMENDER	D	
COMMON CO CTION ATE:	UNCIL AC	Vice-0	Chair ADOPT Barczak Czaplewski Dobrowski Kopplin Lajsic	AYE	IMENDER	D	
COMMON CO CTION ATE:	UNCIL AC	Vice-0	Chair ADOPT Barczak Czaplewski Dobrowski Kopplin Lajsic Narlock	AYE	IMENDER	D	
COMMON CO CTION OATE:	UNCIL AC	Vice-0	Chair Barczak Czaplewski Dobrowski Kopplin Lajsic Narlock Reinke	AYE	IMENDER	D	
COMMON CO ACTION DATE:	UNCIL AC	Vice-0	Chair ADOPT Barczak Czaplewski Dobrowski Kopplin Lajsic Narlock	AYE	IMENDER	D	
COMMON CO CTION OATE:	UNCIL AC	Vice-0	Barczak Czaplewski Dobrowski Kopplin Lajsic Narlock Reinke Sengstock	AYE	IMENDER	D	



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2006-0204 Final Action:

Resolution to approve bid of C. W. Purpero, Inc. for Sanitary Sewer Relay, Sanitary Spot Relays & Sanitary Sewer Lining (C.I.P.P.) at Various Locations in Sanitary Sewer Basins WE 16, WE 19, WE 20, & WE 23, in the amount of \$500,936.50.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of C. W. Purpero, Inc. for 2006 Project No. 10 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of C. W. Purpero, Inc. for 2006 Project No. 10:

Sanitary Sewer Relay, Sanitary Spot Relays & Sanitary Sewer Lining (C.I.P.P.) Various Locations in Sanitary Sewer Basins WE 16, WE 19, WE 20 & WE 23 (Plan File No(s). S-1305, S-1306, S-1307, S-1308, S-1309, S-1310, S-1311, X-769, X-770, X-771, X-772, X-773)

for the sum of Five hundred thousand, nine hundred thirty-six dollars and fifty cents (\$500,936.50)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds.

Eng06

1650141101110. It 2000 0204	
ADOPTED	APPROVED
Paul M. Ziehler, City Admin. Officer, Clerk/Treas.	Jeannette Bell, Mayor

CITY OF WEST ALLIS 2006 Project No. 10 Bid Opening - 7/27/06

SANITARY SEWER RELAY, SANITARY SPOT RELAYS & SANITARY SEWER LINING (C.I.P.P.)

Various Locations in Sanitary Sewer Basins WE 16, WE 19, WE 20 & WE 23

, [Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
		C. W. Purpero Inc.		American Sewer Services Inc.		MJ Construction Inc.		Mainline Sewer & Water Inc.		Rawson Contractors Inc.		Globe Contractors Inc.		Super Excavators Inc.	
		5770 S. 13 St.		6151 O'Connell St.		8617 W. Kaul Ave.		11430 W. Bluemound Rd. #16				N50 W23076 Betker Rd.		N59 W14601 Bobolink Ave.	
		Milwaukee, WI 53221		Hartford, WI 53027		Milwaukee, WI 53225		Wauwatosa, WI 53226		P. O. Box 543		Pewaukee, WI 53072		Menomonee Falls, WI 530	
										Hales Corners, WI 53130					
TTT.		DDIOF	TOTAL	PRIOR TOTAL PRIOR TOTAL PRIOR						PRIOS TOTAL					
1 15" Coniton Count Lining	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 15" Sanitary Sewer Lining 2 8" Sanitary Sewer Relay	969 lin. ft. 2,594 lin. ft.	45.00 76.00	43,605.00 197,144.00	47.00 107.00	45,543.00	49.00 112.00	47,481.00	42.75	41,424.75	46.00	44,574.00	45.00	43,605.00	60.00	58,140.00
3 10" Sanitary Sewer Relay	331 lin. ft.	120.00	39,720,00	163.00	277,558.00 53,953.00	164.00	290,528.00 54,284.00	133.00 137.00	345,002.00 45,347.00	135.00 195.00	350,190.00 64,545.00	140.00 181.00	363,160.00 59,911.00	132.00 180.00	342,408.00
4 3'6" dia. Sanitary Manhole (18)	200 vert. ft.	170.00	34,000.00	200.00	40,000.00	150.00	30,000.00	245.00	49,000.00	160.00		150.00		300.00	59,580.00
5 8" Sanitary Spot Relay	12 units	2,700.00	32,400.00	2,860.00	34,320.00	5,160.00	61,920.00	5,400.00	64,800.00	4,000.00	32,000.00 48,000.00	5,200.00	30,000.00 62,400.00	8,500.00	60,000.00
6 10" Sanitary Spot Relay	5 units	3,300.00	16,500.00	3,500.00	17,500.00	5,500.00	27,500.00	5,000.00	25,000.00	4,500.00	22,500.00	5,400.00	27,000.00	8,600.00	102,000.00 43,000.00
7 12" Sanitary Spot Relay	1 unit	3,300.00	3,300.00	4,300.00	4,300.00	10,000.00	10,000.00	5,200.00	5,200.00	5,000.00	5,000.00	5,500.00	5,500.00	8,700.00	8,700.00
8 6" dia. Building Sanitary Sewer (10)	50 lin. ft.	83.00	4,150.00	100.00	5,000.00	150.00	7,500.00	58.00	2,900.00	125.00	6,250.00	135.00	6,750.00	100.00	5,000.00
9 Sanitary Reconnects	119 units	120.00	14,280.00	75.00	8,925.00	100.00	11,900.00	28.00	3,332.00	150.00	17,850.00	500.00	59,500.00	75.00	8,925.00
10 Manhole Abandonment	2 units	1,200.00	2,400.00	300.00	600.00	500.00	1,000.00	765.00	1,530.00	1,000.00	2,000.00	500.00	1,000.00	700.00	1,400.00
11 Type "A" Pavement Replacement	1,320 sq. yds.	56.50	74,580.00	69.00	91,080.00	75.00	99,000.00	54.00	71,280.00	85.00	112,200.00	55.00	72,600.00	100.00	132,000.00
12 Type "B" Pavement Replacement	345 sq. yds.	44.50	15,352.50	39.00	13,455.00	42.00	14,490.00	42.00	14,490.00	50.00	17,250.00	42.00	14,490.00	60.00	20,700.00
13 Type "C" Pavement Replacement	30 sq. yds.	42.50	1,275.00	50.00	1,500.00	50.00	1,500.00	21.00	630.00	100.00	3,000.00	50.00	1,500.00	45.00	1,350.00
14 31" Concrete Curb & Gutter	15 lin. ft.	34.00	510.00	30.00	450.00	30.00	450.00	32.00	480.00	50.00	750.00	35.00	525.00	45.00	675.00
15 Pavement Ties	1,680 units	4.25	7,140.00	5.00	8,400.00	6.00	10,080.00	4.00	6,720.00	8.00	13,440.00	4.00	6,720.00	7.00	11,760.00
16 Type "A" Lawn Replacement	4 sq. yds.	100.00	400.00	20.00	80.00	20.00	80.00	11.00	44.00	100.00	400.00	20.00	80.00	20.00	80.00
17 Inlet Protection Barriers	103 units	60.00	6,180.00	50.00	5.150.00	10.00	1.030.00	25.00	2,575.00	20.00	2,060.00	40.00	4,120.00	20.00	2,060.00
18 Traffic Control	1 lump sum	8,000.00	8,000.00	100.00	100.00	1,000.00	1,000.00	10,500.00	10,500.00	3,000.00	3,000.00	7,000.00	7,000.00	10,000.00	10,000.00
man and and an							.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,
			500,936.50		607,914.00		669,743.00		690,254.75		745,009.00		765,861.00		867,778.00



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2006-0204 Final Action: 8/1/2006

Resolution to approve bid of American Sewer Services, Inc. for Sanitary Sewer Relay, Sanitary Spot Relays & Sanitary Sewer Lining (C.I.P.P.) at Various Locations in Sanitary Sewer Basins WE 16, WE 19, WE 20, & WE 23, in the amount of \$607,914.00.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that a bid was received by C. W. Purpero, Inc. and determined to be the low bid; that upon further investigation and meetings with C. W. Purpero, Inc., it was mutually determined that said bid contained a substantial error; therefore, C. W. Purpero, Inc.'s bid was formally withdrawn in writing on July 31, 2006; and that all other bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of American Sewer Services, Inc. for 2006 Project No. 10 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of American Sewer Services for 2006 Project No. 10:

Sanitary Sewer Relay, Sanitary Spot Relays & Sanitary Sewer Lining (C.I.P.P.) Various Locations in Sanitary Sewer Basins WE 16, WE 19, WE 20 & WE 23 (Plan File No(s). S-1305, S-1306, S-1307, S-1308, S-1309, S-1310, S-1311, X-769, X-770, X-771, X-772, X-773)

for the sum of Six hundred seven thousand, nine hundred fourteen dollars and no cents (\$607,914.00)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds.

Eng06-51A

ADOPTED AS AMENDED 08/01/2006

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED AS AMENDED 8-4-06

Jeannette Bell, Mayor

CITY OF WEST ALLIS 2006 Project No. 10 Bid Opening - 7/27/06

SANITARY SEWER RELAY, SANITARY SPOT RELAYS & SANITARY SEWER LINING (C.I.P.P.)

Various Locations in Sanitary Sewer Basins WE 16, WE 19, WE 20 & WE 23

r ·		Bill B. 1500		A Did Dood 500		Did Dond 50/		Did Dand EV		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Borid 5%		Bid Borid 5 %		Bid Borid 576	
		G W Dumana Ina				M.I. Comptending Inc.		Mainline Sewer & Water Inc.		Rawson Contractors Inc.		Globe Contractors Inc.		Super Excavators Inc.	
		C. W. Purpero Inc.		American Sewer Services Inc.		MJ Construction Inc.		11430 W. Bluemound Rd. #16				N50 W23076 Betker Rd.		N59 W14601 Bobolink Ave.	
		5770 S. 13 St. 6151 O'Connell St. Milwaukee, WI 53221 Hartford, WI 53027			8617 W. Kaul Ave.		Wauwatosa, WI 53226		P. O. Box 543		Pewaukee, WI 53072		Menomonee Fa		
		willwaukee,	VVI 5322/I	Hartford, WI 53027		Milwaukee, WI 53225		VVauwalosa, VVI 55220		Hales Corners, WI 53130		Fewaukee, WI 55072		Wichemonico	ano, *** 0000 !
			/							Hales Corners, VVI 55150					
ITEM	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 15" Sanitary Sewer Lining	969 lin. ft.	45.00	43,605.00	47.00	45,543.00	49.00	47,481.00	42.75	41,424.75	46.00	44,574.00	45.00	43,605.00	60.00	58,140.00
2 8" Sanitary Sewer Relay	2,594 lin. ft.	76.00 \	197,144.00	107.00	277,558.00	112.00	290,528.00	133.00	345,002.00	135.00	350,190.00	140.00	363,160.00	132.00	342,408.00
3 10" Sanitary Sewer Relay	331 lin. ft.	120.00	39,720.00	163.00	53,953.00	164.00	54,284.00	137.00	45,347.00	195.00	64,545.00	181.00	59,911.00	180.00	59,580.00
4 3'6" dia. Sanitary Manhole (18)	200 vert. ft.	170.00	34,000.00	200.00	40,000.00	150.00	30,000.00	245.00	49,000.00	160.00	32,000.00	150.00	30,000.00	300.00	60,000.00
5 8" Sanitary Spot Relay	12 units	2,700.00	32,400.00	2,860.00	34,320.00	5,160.00	61,920.00	5,400.00	64,800.00	4,000.00	48,000.00	5,200.00	62,400.00	8,500.00	102,000.00
6 10" Sanitary Spot Relay	5 units	3,300.00	16,500.00	3,500.00	17,500.00	5,500.00	27,500.00	5,000.00	25,000.00	4,500.00	22,500.00	5,400.00	27,000.00	8,600.00	43,000.00
7 12" Sanitary Spot Relay	1 unit	3,300,00/	3,300.00	4,300.00	4,300.00	10,000.00	10,000.00	5,200.00	5,200.00	5,000.00	5,000.00	5,500.00	5,500.00	8,700.00	8,700.00
8 6" dia. Building Sanitary Sewer (10)	50 lin. ft.	83.00	4,150.00	100.00	5,000.00	150.00	7,500.00	58.00	2,900.00	125.00	6,250.00	135.00	6,750.00	100.00	5,000.00
9 Sanitary Reconnects	119 units	120.00	14,280.00	75.00	8,925.00	100.00	11,900.00	28.00	3,332.00	150.00	17,850.00	500.00	59,500.00	75.00	8,925.00
10 Manhole Abandonment	2 units	1,200,00	2,400.00	300.00	600.00	500.00	1,000.00	765.00	1,530.00	1,000.00	2,000.00	500.00	1,000.00	700.00	1,400.00
11 Type "A" Pavement Replacement	1,320 sq. yds.	56.50	74,580.00	69.00	91,080.00	75.00	99,000.00	54.00	71,280.00	85.00	112,200.00	55.00	72,600.00	100.00	132,000.00
12 Type "B" Pavement Replacement	345 sq. yds.	44.50	15,352.50	39.00	13,455.00	42.00	14,490.00	42.00	14,490.00	50.00	17,250.00	42.00	14,490.00	60.00	20,700.00
13 Type "C" Pavement Replacement	30 sq. yds.	42.50	1,275.00	50.00	1,500.00	50.00	1,500.00	21.00	630.00	100.00	3,000.00	50.00	1,500.00	45.00	1,350.00
14 31" Concrete Curb & Gutter	15 lin. ft.	/ 34.00	510.00	30.00	450.00	30.00	450.00	32.00	480.00	50.00	750.00	35.00	525.00	45.00	675.00
15 Pavement Ties	1,680 units	4.25	7,140.00	5.00	8,400.00	6.00	10,080.00	4.00	6,720.00	8.00	13,440.00	4.00	6,720.00	7.00	11,760.00
16 Type "A" Lawn Replacement	4 sq. yds.	/ 100.00	400.00	20.00	80.00	20.00	80.00	11.00	44.00	100.00	400.00	20.00	80.00	20.00	80.00
17 Inlet Protection Barriers	103 units	60.00	6,180.00	50.00	5,150.00	10.00	1,030.00	25.00	2,575.00	20.00	2,060.00	40.00	4,120.00	20.00	2,060.00
18 Traffic Control	1 lump sum	/ 8,000.00	8,000.00	100.00	100.00	1,000.00	1,000.00	10,500.00	10,500.00	3,000.00	3,000.00	7,000.00	7,000.00	10,000.00	10,000.00
		/								745,000,00		705 004 00		0 967 779 00	
		/	500,936.50	1	607,914.00		669,743.00		690,254.75		745,009.00		765,861.00		867,778.00